
Вежбање          10.12.20. 

 

276.   

ܤ         = 36ܿ݉ଶ 

        ݀௕௦ = 10ܿ݉  

        ܲ =? 

        ܽଶ =  ܤ

        ܽଶ = 36ܿ݉ଶ 

        ܽ = √36ܿ݉ଶ 

        ܽ = 6ܿ݉ 

ଶܪ         = ݀௕௦ଶ − ܽଶ 

ଶܪ         = (10ܿ݉)ଶ − (6ܿ݉)ଶ 

ܪ         = √64ܿ݉ଶ 

ܪ         = 8ܿ݉ 

        ܲ = ܤ2  ܯ+

        ܲ = 2 ∙ 36ܿ݉ଶ + 4 ∙ ܽ ∙  ܪ

        ܲ = 72ܿ݉ଶ +4 ∙ 6ܿ݉ ∙ 8ܿ݉ 

        ܲ = 72ܿ݉ଶ +192ܿ݉ଶ 

        ܲ = 264ܿ݉ଶ 

 

 

281.  

ܪ = 10ܿ݉ 

ௗܲ௣ = 60√2ܿ݉ଶ 

ܲ =? 

݀௢௦ ∙ ܪ = ௗܲ௣ 

݀௢௦ = ௗܲ௣:  ܪ

݀௢௦ = 60√2ܿ݉ଶ: 10ܿ݉ 

݀௢௦ = 6√2ܿ݉ 

ܽ√2 = ݀௢௦ 

ܽ√2 = 6√2ܿ݉					/: √2 

ܽ = 6ܿ݉ 

ܲ = ܤ2  ܯ+

ܲ = 2ܽଶ +  ܪ4ܽ

ܲ = 2 ∙ (6ܿ݉)ଶ + 4 ∙ 6ܿ݉ ∙ 10ܿ݉ 

ܲ = 2 ∙ 36ܿ݉ଶ + 240ܿ݉ଶ 

ܲ = 72ܿ݉ଶ + 240ܿ݉ଶ 

ܲ = 312ܿ݉ଶ 

 

282. a) 

ܯ = 120ܿ݉ଶ 

ܲ = 170ܿ݉ଶ 

ܪ =? 

ܲ = ܤ2 +  ܯ

ܤ2 = ܲ −  ܯ

ܤ2 = 170ܿ݉ଶ − 120ܿ݉ଶ 

ܤ2 = 50ܿ݉ଶ 

ܤ = 25ܿ݉ଶ 

ܽଶ =  ܤ

ܽଶ = 25ܿ݉ଶ 

ܽ = 5ܿ݉ 

 

ܪ4ܽ =  ܯ

4 ∙ 5ܿ݉ ∙ ܪ = 120ܿ݉ଶ 

20ܿ݉ ∙ ܪ = 120ܿ݉ଶ 

ܪ = 120ܿ݉ଶ: 20ܿ  ݉

ܪ = 6ܿ݉ 



284. 

ܦ = 3,5ܿ݉ 

݀ = 2,5ܿ݉ 

ܲ =? 

 :		ଵܦܤܦ∆

ଶܪ = ଶܦ − ݀௢௦ଶ  

݀௢௦ = ܽ√2 

ଶܪ = ଶܦ − ൫ܽ√2൯
ଶ
 

ଶܪ = ଶܦ − 2ܽଶ            (1) 

 :		ଵܥܤܥ∆

ଶܪ = ݀௕௦ଶ − ܽଶ             (2) 

Из (1) и (2) следи: 

ଶܦ − 2ܽଶ = ݀௕௦ଶ − ܽଶ 

ଶܦ − ݀௕௦ଶ = 2ܽଶ − ܽଶ 

ଶܦ − ݀௕௦ଶ = ܽଶ 

(3,5ܿ݉)ଶ + (2,5ܿ݉)ଶ = ܽଶ 

12,25ܿ݉ଶ − 6,25ܿ݉ଶ = ܽଶ 

ܽଶ = 6ܿ݉ଶ 

ܽ = √6ܿ݉ 

ଶܪ = ݀௕௦ଶ −ܽଶ 

ଶܪ = (2,5ܿ݉)ଶ − ൫√6ܿ݉൯
ଶ
 

ଶܪ = 6,25ܿ݉ଶ − 6ܿ݉ଶ 

ଶܪ = 0,25ܿ݉ଶ 

ܪ = 0,5ܿ݉ 

ܲ = ܤ2  ܯ+

ܲ = 2ܽଶ +  ܪ4ܽ

ܲ = 2൫√6ܿ݉൯
ଶ
+4 ∙ √6ܿ݉ ∙ 0,5ܿ݉ 

ܲ = 2 ∙ 6ܿ݉ଶ + 2√6ܿ݉ଶ 

ܲ = 2(6ܿ݉ଶ + √6)ܿ݉ଶ 

 

297.  

݀௕௦ = 10ܿ݉ 

ℎ = 3√3ܿ݉ 

ܲ =? 

ܽ√3
2

= ℎ 

ܽ√3
2

= 3√3ܿ݉					/∙ 2 

ܽ√3 = 6√3ܿ݉							/: √3					 

ܽ = 6ܿ݉ 

ଶܪ = ݀௕௦ଶ − ܽଶ 

ଶܪ = (10ܿ݉)ଶ − (6ܿ݉)ଶ 

ଶܪ = 64ܿ݉ଶ 

ܪ = 8ܿ݉ 

ܲ = ܤ2  ܯ+

ܲ = 2 ∙
ܽଶ√3
4

+  ܪ3ܽ

ܲ =
ܽଶ√3
2

+  ܪ3ܽ

ܲ = (଺௖௠)మ√ଷ
ଶ

+ 3 ∙ 6ܿ݉ ∙ 8ܿ݉ 

ܲ =
36ܿ݉ଶ√3

2
+ 144ܿ݉ଶ 

ܲ = 18√3ܿ݉ଶ + 144ܿ݉ଶ 

ܲ = 18(√3 + 8)ܿ݉ଶ 

 

ℎଶ = ܽଶ − ቀ
ܽ
2
ቁ
ଶ
 

ℎଶ = ܽଶ −
ܽ
4

ଶ
 

ℎଶ =
4ܽ
4

ଶ

−
ܽ
4

ଶ
 

ℎଶ =
3ܽ
4

ଶ

 

ℎ = ඨ3ܽ
4

ଶ

 

ℎ =
ܽ√3
2

 

Подсећање: 



301. 

ܤ = 9√3ܿ݉ଶ 

ܪ = 4ܽ 

ܲ =? 

ܽଶ√3
4

=  ܤ

ܽଶ√3
4

= 9√3ܿ݉ଶ 						/∙ 4 

ܽଶ√3 = 36√3ܿ݉ଶ						/:√3 

ܽଶ = 36ܿ݉ଶ						 

ܽ = 6ܿ݉ 

ܪ = 4ܽ = 4 ∙ 6ܿ݉ 

ܪ = 24ܿ݉ 

ܲ = ܤ2 +  ܯ

ܲ = 2 ∙ 9√3ܿ݉ଶ +  ܪ3ܽ

ܲ = 18√3ܿ݉ଶ + 3 ∙ 6ܿ݉ ∙ 24ܿ݉ 

ܲ = 18(√3 + 24)ܿ݉ଶ 

 

 

 

306.  

ܪ = 12ܿ݉ 

ܽ = 6ܿ݉ 

ܾ = 8ܿ݉ 

ܲ =? 

ܿଶ = ܽଶ + ܾଶ 

ܿଶ = (6ܿ݉)ଶ + (8ܿ݉)ଶ 

ܿଶ = 100ܿ݉ଶ 

ܿ = 10ܿ݉ 

 

ܤ = ௔∙௕
ଶ

    (површина правоуглог троугла) 

ܤ =
6ܿ݉ ∙ 8ܿ݉

2
 

ܤ = 24ܿ݉ଶ 

ܯ = ܪܽ + ܪܾ +  ܪܿ

ܯ = 6ܿ݉ ∙ 12ܿ݉+ 8ܿ݉ ∙ 12ܿ݉+ 10ܿ݉ ∙ 12ܿ݉ 

ܯ = 288ܿ݉ଶ 

ܲ = ܤ2  ܯ+

ܲ = 2 ∙ 24ܿ݉ଶ + 288ܿ݉ଶ 

ܲ = 336ܿ݉ଶ 

 


